Law Office of Robert W. Bauer, P.A. 2815 NW 13th Street
Suite 200E
Gainesville, FL 32609
Phone: 352-375-5960
www.Bauerlegal.com Email:

Mr. Neil Gillespie 8092 SW 115th Loop Ocala, Florida 34481

Bill Number: 1576

Date due: 2/13/2009

SUMMARY

Previous balance:

\$12,118.11

New charges:

76.38

Payments applied to cases:

0.00

TOTAL DUE FOR ALL CASES:

\$12,194.49

Printed: 2/03/09 Gillespie, Neil Page: 1 of 3

CASE SUMMARY FOR Libel 05CA007205 - 060703

Previous balance:

\$12,118.11

		Payments	
Date	Description	·	Amount

No new payments received for this case

Total payments:	\$0.00
-----------------	--------

Date	Description (Charges		Amount
1/21/09	Processing Incoming Mail-Defendant-Appellants pro se 0.1 hr motion for leave to submit reply brief			
	AHR	\$50.00 /hr.		
1/21/09	Postage		5 @ 0.42 each	2.10
		AHR		
1/21/09	Making copy of Notice of hearing on plaintiffs for withdrawal of counsel, processing for mail adding to client's correspondence log.		0.1 hr	5.00
	AHR	\$50.00 /hr.		
1/23/09	Processing Incoming Mail- Representation		0.1 hr	5.00
	AHR	\$50.00 /hr.		
1/26/09	Processing incoming mail-Appellees Motion to Defendeant-Appellants Pro Se Motion for Lear Submit Reply Brief		0.1 hr	5.00
	AHR	\$50.00 /hr.		
1/27/09	Making copy of Amended Notice of Hearing or Plaintiffs Motion for Withdrawal of Counsel, pr for mailing, and adding to client's corresponde	ocessing	0.1 hr	25.00
	AHR	\$250.00 /hr.		
1/28/09	Making copy of Motion to Appear by Telephon processing for mailing, and adding to client's correspondence log.	e,	0.1 hr	5.00
	AHR	\$50.00 /hr.		
1/28/09	Postage		2 @ 0.59 each	1.18
		AHR		
1/28/09	Postage		5 @ 0.42 each	2.10
		AHR		
1/28/09	Postage		5 @ 0.42 each	2.10
		AHR		
1/29/09	Copies		39 @ 0.10 each	3.90
		AHR		
1/29/09	Processing incoming mail-Defendat Appellants Motion for Leave to Submit Motion to Show Ca	•	0.1 hr	5.00
rinted: 2/0	03/09 Gillo	espie, Neil	Page	: 2 of 3

Why Robert W. Bauer Should not Be Held in Contempt of Court

AHR \$50.00 /hr.

1/29/09 Processing incoming mail-Order of the Court

Appellants pro se Motion for Leave to Submit Reply

Brief

AHR \$50.00 /hr.

1/30/09 Processing incoming mail- Notice of hearing on

plaintiffs motion for withdrawal of counsel

AHR \$50.00 /hr.

0.1 hr

5.00

0.1 hr

5.00

Total charges:

\$76.38

CASE SUMMARY

Previous balance:

\$12,118.11

Total charges:

76.38

Total payments:

0.00

TOTAL DUE for this Case:

\$12,194.49

You have amounts that are past due. Please pay.

Printed: 2/03/09 Gillespie, Neil Page: 3 of 3

(Columbian) — CO165

Dubl-Vue® Form Envelope

AND THE PARTY OF T

34481+3567



